Tableaux des Puissances de Dix (F)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 100 10 000 10 1000

5,67

1,8

8,86

3,63

2,58

X 10 100 10 000 1 000

6,72

2,58

7,9

3,47

9,23

+ 1000 10 10 000 100

1,31

6,72

2,92

8,02

5,24

= 100 1000 10 10 000

591

4,66

3,75

2,28

7,23
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Tableaux des Puissances de Dix (F) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 100 10 000 10 1 000
5,67 567 56 700 56,7 5670
1,8 180 18 000 18 1800
8,86 886 88 600 88,6 8 860
3,63 363 36 300 36,3 3630
2,58 258 25800 25,8 2 580
X 10 100 10 000 1000
6,72 67,2 672 67 200 6720
2,58 25,8 258 25800 2580
7,9 79 790 79 000 7900
3,47 34,7 347 34700 3470
9,23 92,3 923 92 300 9230
+ 1000 10 10 000 100
1,31 0,00131 0,131 0,000131 0,0131
6,72 0,00672 0,672 0,000672 0,0672
2,92 0,00292 0,292 0,000292 0,0292
8,02 0,00802 0,802 0,000802 0,0802
5,24 0,00524 0,524 0,000524 0,0524
+ 100 1000 10 10 000
5,91 0,0591 0,00591 0,591 0,000591
4,66 0,0466 0,00466 0,466 0,000466
3,75 0,0375 0,00375 0,375 0,000375
2,28 0,0228 0,00228 0,228 0,000228
7,23 0,0723 0,00723 0,723 0,000723
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